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Question Booklet Code SLRC_ 2 02 2

A Paper : V

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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foriaet

71 09:55 JHIT HITS LHPITOI e |

OMR €3 “1q9 IYR JBWH® Wa Te05! e 917 S9ITS &miht ARG A 76T |

o S5 BfeT 4] TS (@RI AT 29w T fToqe 2@ T2{| /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol A1 71 27 |

® Non-Standard OMR J@T® 2(F “_FIAE Fo@ @F 799 euFiFed Mg sz =B
Tt =far |

o SrHIEPTRCE WA Ml SHFES /(@ET *ae YAR FHa PR A0, 2I=E_IT (SSTECS 210w
FHS P A2 FAIF TS IF TSI OMR TG IF eEFIFOUC] a5 ol
R SIS | RICT 2[RI oS /e “Iqe sl i Je 903, (S02 & (SSTEF
s 31 4f9 @RI Ea |

o R FHNT AN (9 LAWEAT B4l (rough) FW eEFIFos il HizeE F @ |
AN 461 (rough) FI TG A1 Al B (FICT 476 FlaTers I G | Teq 7[aqo I
@2 Y541 (rough) PN *HIFE T, (SRS T (S0 T&H #[@q JeiRe 341 7927 |

o S 2T AT AHIF €= NG OMR T&T “[@rz 7l 27 | G 2 I Wam IRIA
SReRE @I $eq oiq il 72’7 |

® NIFOT TS ¥ OMR Teq “g il 27 | *[=If@ ¢z g OMR Ted “qe
ERJFOT T, LFTOT T, B AR @ el /F 2N IA-7425 (I 7 PR
R |

® ST Y 2 T HF eWFFoe 100 b & AR AT TS0 &R @ 1.50 THIP
2 |

o & TG T (PITA! AN 79 T |

® IF(AIRIR © TR A AFINET OMR TE 2[qS &l /F 3l @1-936 (02 T2
A AN |

o “RrFIi (OSTEIRT R To M @ erTire erpHR RO 279, @ PN,
ST, 0T, o T BRAG! | @2 (S ARG A TRFIS @I 470 s 1z 3K
(oIS PRI 2o 3RAMG TRFREDBIR2, 2T Wi e 9o A |

Important Instruction :

o T fafve 2l Ttw TTe eNFITS $'T TG OMR Tes g iE 5iz® forat 27 |
TriRgemRc, ATINE 429 T4 ARNFIFOI TG ‘A’ QifFET OMR Tee A ffws 5i2S ‘A’
o1 =R =i WS I8 ‘A’ (6f 331 I AR | emsires (]t [pmtie @i [
TR TGP Sl IF QRHToL Feie A 37 |

o 2SI T GJil FIT WICS 2_HIANT HFT o© OMR TEGF [ TS LRFITOIE
ol v AR | SepRt sfwiEiem SpritEs 3 Rt 27 |

D
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I 09:55 BRI TS aB &= 1l |

OMR &3 “taq 3L Jebre W Terih e TR 7t erifh R #1to 7o |

o P HoTCe APl SR @I AN <9 oA FooF @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
IERISESE

o FrHFiaE R e ToRERs /@I #Ita YA [ 0o 2, 2ARIF Od 2100
FCF P 2429 FAF T R ORI OMR T@d2[@ @3k 2#afb s ol (redid
AR | (I AR ST /e #itq A SR FE 1 S, SR Ot eI 0
51°ly T 204 |

o ST T GHE ARG T (rough) TS 2PE#TE (S| BT FACS AR | 21 qri
2T (rough) IS TG 1 T (FIF LR FI9NE FACS AR I | AW 27wt @3 27!
(rough) FT& TEIITG T, OCF G2 TELICGH TeNRE Pl 2(4 1 |

® X IR & ANFIANET b Aq OMR Tea7@ (e X | G T A Wa TR &
SR (e Teaig (e I A |

® 2R[(TF A «Fb OMR Te°l@ (eql 2@ | Aa=Ics (12 (e OMR Teaeiq emitas
T, ePEITR (T TSI AR WY 11 /FICE IT-A@S o =T 5] FH00 2 |

® <[SFPIF TR 2 I6! €I 2H#itg 100 b 2p A 43R TSP AT &) 1.50 797 0T A
R |

® o QLI T (I YO FI AP |

® 5% O (FTF G “IrHIE OMR TG0F 1161 /FICE I - &5 (7] 2T FACS 2(A |

o TR OITE R T ATS 2@ @ WA 2Bt IS 2@ | @ - SPIaR],
A, AT, TR @R TG | @3 CRG TGN ORI (I LR SOHRS T (@0
P BCE BRG] HANDE LIPS W 03 91T FHCH |

Important Instruction :

o *ArHTy iRce 267 BT TS et IS THAG OMR Sed7itad e 2w @4t = |
Trizger, AR ST 2poitEd (IS ‘A’ AFE OMR Teg20a iR 2 ‘A’ fordre 2@
G B 78 ‘A’ T 10N TA0S 23 | oIGg (I SPTHRS (YT ARTid) SRR Ragfh e
R R 2Paft 379 TACS 910 |

o ! T Is TR e A (NAFCPI ACS OMR T@geitas Aozt @rieiaiG e fires
2 | & 1 e SR S I Rt 2@ |

L
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%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSAM@@ETET MaaT-maf I T8=1 (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame s gars e 9, fifaame See
T 3riTe @umRTe TifE dFE JHE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SRaT AR et /B feersare A wsf arew 3 gars
WA 37T TSI ST BT AT €T @91 ST ST |

o fsarrEmn el MaE Y@M THT ST rough FERE GiFM™ foaTgaas @l g |
feA=@™T rough TEE TR foeTsaE T oA TEWH @RS SEREEl FE A8 |
feeTsama 3¢ 9 rough FERE @A 376 R feTTE@! UM WA SR ST |

o TTHE FHEMA U™ feFrEE THe” OMR A= faems e wrme | mRf Seen 19
o St st forar ferette @ s 9= |

o T faags armE TH OMR T faag gmm@ sme | femmeamn &8 &1 OMR
ATRATE AT - : TR foerst Tmr om0 d@m foaemst &', waf w's smfe safeet
e AT TS T S-St et e |

® HIEH THT 2 U= IR A fSelgard W9 100 HifY U= 3T WFhHE! JiFEE-l e
TRt e 1.50 T YT |

o I fFrafy aram™ Set g’ war 19 |

o foHERT OMR T faretmgema @t fier TR W Seu-siEl e Qi@ 317 Qe
AT |

o 31are & it glwenfy e marme arfgamn @it @ faemst et gimer me
Taie SIFTH, SR e, s7ar, 9, &< A1 3UiS | o ST Jres sl T BiEeEE s -
St TET GRS TSI ST SUSTE BIATaHRGE T A1s BT 851 1 A0 |

Important Instruction :

o fommrrarn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
T g AR | fafefer anfed femmremn @i dinr ety e <A’ @t e et &
SR G e e ‘A o e o for sieeE e At e |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feegEian ST gl ARTH | TSTee1 STHWIE ERiEt Tamned fFems e S |

L
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uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilier Tord T foeft wiemeff =l wdian wam o Wiat yET 1o wlier e Bt I i 1A
Tl < St |

o fe I ghiemeff Torq qlient 3TUTT B A1 W IfectRad FuHl 1 oot T 7, A1 39 3™
U T SR |

® Non-Standard OMR 3W-93 o 391 7q reqefl 379a1 Tet =, I gfedent # fou 70 v w
wog 9 4 ford |

o Thianefi @i frfterss g feu o ufefa /A 3fic W & IR SR T TR, Ugeh 9 3 o &
¢ 3R g IR WA gf&qeht 3T OMR IT-94 fiee i Hiad o &G | 3R foreft aliemeff 4
Iufef /Ue 3ffe W e gedter T foham, at 3| wdienefi s srufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T W weh | wdeefi W
(rough) T IT-9 A7 31 Forell T8 & HITe W & L Feh | I qhiemelf sT-u9 WHE W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € & S | Tt §H W1 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-97 fear smom | wieneff 39 fifdse OMR Iw-93 # ¥
GfEent 1., T GFETehT T I 3T HTHT 1 IS AT Torawor FraeTi & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ GfETehl § 100 T & 3TR Jesh I o foTw 1,50 376 i |

® T 3T o foTU whig TehRIceh 3k =i gnm |

o TR 1 38 T8 T 3R OMR IT-T3 W hael Tl AT AT STA-Tig< 9 § |t FIAC
WA B |

o wlieneff 379t glaen o foTu e T T 7o gfecent w1 Teieh Sve Sg-wTfves 8T, S — ST,
s, arel, fawdt 37t 31t | 30 ey o wren w1 weetor 8 foneft wehr 1 3fe o wmem 9 srgfaen
B W 37T 7T i & HE W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRRt &1 g OMR SW-U3 § 9@ &1 ¥
T /ST feRan e @ | SeTEwREEy, afe udenelf fit uv gieaet @ @i ‘A’ @, @ OMR
IT-U H hie ‘A’ foremn grm 3R gt A’ Rt el 1 g | afe T gftaert | g W an
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

® Tlten WA BieH ¥ Uget udiendt i Fiers o 4 OMR STR-US & WY U9 Yieaent ot s
AT BN | ST 3¢ STJUREd o &9 | THe S |

L
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1. 2024 B9 ABEA SR (GFle72e 52T IS 277 2

A wike (B) 3%
(C) wBETH (D) =
1. 2024 AR AHBEI ST (I =27 SRS FIC 2
(A) e (B) %
(C) SITHRCN D) g
1. 2024 AW YRR SFATIRE! F TTHRT SR ?
A) ufm (B) &=
(C) waeEH (D) i@
1. I A1 I 2024 HeAHTe 3Teifueh St BT i ?
(A) uRE (B) e
(C) wEH (D) i@
1.  Which city will host the 2024 Summer Olympics ?
(A) Paris (B) London
(C) Amsterdam (D) Zurich

2. eI I (PF IS 52 2

(&) TR (B) fefaizTe
(C) g (D) AT
2. IE I (O Al =12 ?
(A) TR (B) e
(C) I (D) ATHE
2. T S IEUH TSYTE TRTRAT ?
(A) TARET (B) Trefidfi==
(C) EHfEn (D) 9rseis
2. wiem SIS MR |
(A) TR (B) Trefidig
(C) SSHfEN (D) UrEete
2. Manila is the capital city of
(A) Malaysia (B) Philippines
(C) Indonesia (D) Thailand
SLRC-2022/P-V/IA 6 %



3. OR G~ b oS

A) Florrel (B) T gl
(©) TR (D) ST

3. T N (EAIGPT GI-ofe) SRES
A) TSl (B) T g
C) TR (D) Tl

3. WREIUAFERIC ?
(A) I (B) TireH feeett
(C) (D) W

3. oieH dua el fra 2
(A) I B) s feeett
(C) HE (D) T

3. Lotus temple is situated in
(A) Kolkata (B) New Delhi
(C) Mumbai (D) Bhopal

4.  TTHRIES 72T [ooT© FHITHRT GF SCH+|G Ao ! 2

(A) Trer (B) =M<
(C) TEFTTH (D) FR'E
4. T St @i FPCHIER SICh+|b [Tz ?
(A) TR (B) ™|
(C) TRFTTH (D) SFIEE
4. TEEMN §9 AREIT HT;@’:F&J (computer) 1 78 A=A T (output device) ?
(A) @™ (B) ¥t
(C) HTgshIBH (D) whiste
4. Trfofia 3 4 swe 1 srseye feaga s @ g ¢
(A) #R3™ (B) et
(C) HISHIBH (D) =hisig
4.  Which of the following is a output device for a computer ?
(A) Mouse (B) Speaker
(C) Microphone (D) Keyboard

I:"E
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feTe (PR ARSI Tolfes ©itd GRS “[@fel et fRieaval 541 27 ?

Q) A9 g s (B) ey oo

(C) e el (D) F5Tais

e Srfire @ wieHel Soifereia abiTes e Ribe = 2

Q) AR lieiie o (B) ey oot

(C) SR ol (D) ~*6 95 e
TR 58 FHETNGE! SeRHE e T S g5 R ?
(A) YR YSITe FrHET (B) foean greimmEi
(C) 3aeA! BT (D) TN =T
Frerforfia 3 & 9 o T sfarer spmfer o & T o R 2 2
NI L SIS B) faaim

(C) I IS (D) gt =

Which of the following mountain range is geologically considered the oldest ?
(A) Pir Panjal Range (B) Vindhya Range
(C) Aravalli Range (D) Western Ghats

TS (w2 T SRS FAATSIF NS TIES 2

(&) I (B) ToMmES!
(©) i (D) T2

ey SarfreT s (b SIees Tl wEsaiisa w1l ?
(A) FIEE! (B) TaImRst
(C) =l (D) w2l
eI T3 TRAH WIS SR ¢HT 7

(A) e (B) el

(C) Ha (D) wEwd
fferfaa o @ s & 7<) wRa i ga ol 7 7 ?

(A) e (B) e

(C) e (D) W&
Which one amongst the following is the southernmost river in India ?
(A) Cauvery (B) Godavari
(C) Narmada (D) Mahanadi

I:"E
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7. TS e foed U 2Fe B 2

(A) st (B) S

(C) sl-= D) ==
7. SRS (I X I 4175 ST FC 2

@) ey (B) el

C) <le (D) =T
7. To®IHT 99 STERTST MEERM JER Y @ G ?

(A) Ter (B) fuems

() TH AR (D) &% fape
7. WY 3o ey fohd W H I B @ 2

A s (B) Uit

(C) @ (D) B
7. In which part do plants produce their food ?

(A) Roots (B) Leaf

(C) Trunk (D) Bark

8. ¢t T Wi ¥ Frelf TFeoq w1 (2R

(A) 36-1°F-372°F B) 36:1°C-37-1°C
(C) 97°C-99°C (D) 48°F—-51°F

8. T AT VAR MR IR S /P 2 -
(A) 36-1°F—37.2°F (B) 36-1°C—37-1°C
(C) 97°C-99°C (D) 48°F-51°F

8.  HIE WA G gl SUHTET GUTEAT e
(A) 36-1 °®T — 37-2 I (B) 36-1°®—37-1°9
(C) 97 °®—99 ¥ (D) 48 °®BT — 51 °H

8.  Ueh I¥%h 1 IXI 1 AT ATIHH 9 ST 4 Bam 2
(A) 36-1°F—37.2°F (B) 36-1°C—37-1°C
(C) 97°C—99°C (D) 48 °F— 51 °F

8. An adult human being has a normal body temperature in the range of
(A) 36-1°F-372°F B) 36:1°C-37-1°C
(C) 97°C-99°C (D) 48°F—-51°F

D
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9. ffere @I sififes SFhoe A AR CHI-T TR 2

(A TR (B) 3sftpq

(C) “Iwgw (D) TSP
9. e i sl Speibre Tissie a2 (712 ?

(A) 9 B) 3fePa

(C) ~%gH (D) ANSRE =Fq
9. TR §¢ YHGITRI Hetel fof a1 o ¢

A) TeE (B) =i

(C) IETfran (D) fom gsetrg
0. faraferfiaa & e ST T T T T A 9

(&) wEEg (B) =

(C) =S (D) HHIAT I
9. Which of the following geometric shapes does not have parallel sides ?

(A) Rhombus (B) Square

(C) Pentagon (D) Parallelogram

10. ST ACSIT (3T YRS AT (b TSee =7 ?

(A) AREFR (B) WHER
(C) EBE D) =BT
10. I TeafRre (G Siferorcs ol eferaiere =7 ?
(A) JGRFR (B) TIRES
(C) TTHET D) & E
10. TEREN S99 Jfes IHEEE SRR (Olympics Swimming Event) &t ?
(A) W (B) ShEI
(C) =& (D) sihEIeh
10. fr=foriad # @ 1 @1 foehey STefien quehl Sfa=ifitar # site T8 8 2
(A) RS (B) SHEH
(C) s&EH (D) SIhEIh
10. Which of the following is not an Olympics Swimming Event ?
(A) Butterfly (B) Backstroke
(C) Breaststroke (D) Breakstroke

I:"E
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11. IfIRe @My eI =2 CIEhes 12 IS ?

(A) o™ (B) Tsren
(C) *eg (D) e
11. 70 SRS (i~ S G <1 A7 #f1e=d 910 fersfier e 2
@A) e (B) {0 (20eG)
(©) v (D) Fore
11. BRI S SE3T e STHTE! G [G3Te S/ ?
(A) g T (T (B) @&
©) R (D) T (ferem)
11. fr=ferRed # & o6 a1 vaft 3191 Siger USi & Wieet § S § 2
(A) BHEA (B) et
©) firg (D) e
11. Which of the following birds builds its nest in tree hollows ?
(A) Hornbill (B) Egret
(C) Vulture (D) Eagle

12. ffiie i SReddq A8 I 2

(A) 9T sfe (B) TGRS I
(C) 9RF2S (D) “eTaR

12. 70 TR (FG Sied Siem 1 ?
Q) 9T URS AY- (B) Qe (57 Biald
(C) R st (D) ez

12. TTERIH Se37 YRATH TR IR ?
(A) T T T (B) Tred STTed T
(C) TR HeT (D) e

12. fr=foifad & & 6 wRa &1 TE w9 8 2
(A) T =i 9T Tt (B) TIet SATTA TR
(C) Ul greft (D) e

12. Which of the following is the National Animal of India ?
(A) One Horned Rhino (B) Royal Bengal Tiger
(C) Asian Elephant (D) Nilgai

I:"E
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13. TP A HFeF ST (112 7 21 91 71 27 2
(A) T2 IR (B) “TeR v ]
(€) R[S (D) BHIS TETC©IR CIUGe
13. T3 SRCSH (SR ce 7o ?
(A) T2 IR (B) TSR ]
(C) R.u=. St (D) T IETCSIR I
13. TR YRAH AEH 37 (Iron Man) 89H THRSTET ?
(A) HETe e (B) {9 =g S
(C) fu.3mR. Mg (D) HIER TeANHTS U
13. 9 1 g 6N fohdl AT ST 2 2
(A) HETe e (B) {9 =g 9
(C) 3R, 3regH (D) TIER ToANHTS T
13. Who is considered as the Iron Man of India ?
(A) Mahatma Gandhi (B) Subhash Chandra Bose
(C) B.R. Ambedkar (D) Sardar Vallabhbhai Patel
14. T3 1 ThE STeq fW=iEe @ Fieol Srers ?
Q) N SRR SR (B) TFeRfGg e
(C)  «@.F.(S. Si=ge] AN D) TE.R.18. 5ol
14. T3 SRS GEROlCE N1 (RpTiger i) 1 Aifiibe 2
&) @S el (B) TFeIpIfirg e
(C)  «. 1o, =g e (D) &=, 5l
14. 9R vRat frarse g9 7at ffemn ¢
(A) Breft STERfR s (B) hetrerefeg foa
(C) Tu.fuS. 7o Ham (D) .3 T[T
14. YRA & foETse 89 o ®9 8 58 ST AT 8 ?
(A) et ST s (B) hererafeq ferem
(C) THS. 3TsgeA HeT™ (D) <.ARE. @
14. Who is known as the Missile Man of India ?
(A) Homi Jahangir Bhabha (B) Kailasavadivoo Sivan
(C) A.P.J. Abdul Kalam (D) J.R.D. Tata

D
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15. feTforiRre sz (I FHoresR BIeae 1 @' <9 792e 95 ?
A) faeIaizs (B) AR
(C) TR ) IEIGISIED
15. Iy StaiRoma e (@ FoChR GHItes @3 J2eN 28M5 ?
&) frRizs (B) TBANIRG
(C) TR ) EIGISIED
15. TTERH 637 AT 91Rg (Computer Storage) T wgfgs <t ammfe 2
(A) fimemse (B) dusge
(C) wmeTEe (D) ferersmse
15. freforfed # & o Hwepet Ten i qe8 9 IHE § ?
(A) TrmeTge (B) <tEmse
(C) WmeTEe (D) fepeitese
15. Which amongst the following is the largest unit of computer storage ?
(A) Gigabyte (B) Terabyte
(C) Megabyte (D) Kilobyte
16. SRS FIET] MTS SITTFIC (PITCH! ZT “I=1 (PRSI AN 0 2
(A) TR (B) aigefs ©am
(C) o™ &I (D) 2fegmr o1
16. OINUST TS5 FI&To! AT LIINE! (I I (AT SINSCP SO B ?
(A)  STTCRE! B) g%l T
(C) O™ S (D) 2T ol6
16. SEIHMEET YA 3if arratter, Tam GiisT s« SRtk gewet aiigar faefr gr 2
(A) e fehett (B) Trsgufd we
(C) wHg W (D) sfuganie
16. WA o Tcdsh ST ead W, THTHST Y 1 a1 & Talfed oid & ;
(A) T fepe (B) Tgufe wa=
(C) &&e ¥y (D) sfeanTe
16. On every Independence Day of India, the Prime Minister addresses the

nation from :
(A) Red Fort (B) Rashtrapati Bhavan
(C) Parliament House (D) India Gate

D
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17. S aMsfq =06 GFRINT WS wifee -
@A) e (B) R
(C) = (D) et
17. SR SNl RIS 2w SICeT-Fio! (SIeIT) 297 -
A) i B) wRRT
(C) == (D)
17. Jfed ity frfafem veemansmem
(A) IR (B) WS
(C) ww=n (D) 3m=m
17. fs T 1 UgeT UeeH o -
(A) IR (B) WSt
(C) wm= (D) Fmm
17. The First album by Zubeen Garg was
(A) Anamika (B) Mayabini
(C) Maya (D) Aasha
18. “qiereqfeil” J IRl (i ifee ?
A #Hus (B) s«
(C) TG D) R
18. “qreroqieel” feTcfece :
@A) @ (B) =™MS
(C) <TeB (D) oA
18. ‘Terarfmft’ 3 forefife smaw ¢
(A) g (B) SRrcd
(C) dmmHg (D) wHegw
18. ‘“TIfify” fereeh gr foredt 718 off ?
A) wgH (B) S
(C) g (D) ey
18. “Rajatarangini” was written by :
(A) Shudraka (B) Jayadeva
(C) Banabhatta (D) Kalhana
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19. (TS 312 “[41 TRITFHS e ST et 7@ w1 e 4 |

(A) 9 @Y @¥ [T (B) Calferorsy” &'7
(C) =E I (BeTeesi= (D) oo Gtz
19. I SRS (PG TR SAES ST 71 (SR GRresie) ?
(A) @H-9¥ G — [TTH (B) oniferfers e
(C) < T2 qH e (D) oo =t
19. TTERI ST SGHISE G HHETR gfemf g 7
(A) TR TH TR (B) Trefiferan ste
(C) T FrEim g (D) ufew gifem
19. fr=fofaa o @ o srafe o wenfia srifese Sefien H1am 2 ?
(A) TR TH T — = (B) Trefiferat sta
(C) &9 T Jeften (D) Tfewd e
19. Which of the following is the name of the optical telescope in space ?
(A) XMM-Newton (B) Galileo probe
(C) Hubble Space Telescope (D) Edison Telescope
20. *{i2AHI 39 AT 7T = T s (22 |
A) TR (B)
(C) 9P (D) IYfeAR Refe
20. *RIAIES Ta AR DS TRFF 4R
(&) T e (B) ¥
(C) ANPR (D) Ifoa T
20. INEHTE AR AT SREpeh SR T ToRTa SR 7
(A) HR Fuer (B) s
(C) THf&s (D) sfeqar Raerst
20. TSI 6 ASE AT IRGhA X & S I 18 ot |
(A) HRHE (B) g
(C) T foE (D) fere faesht
20. The battle of Saraighat was fought between Lachit Borphukan and
(A) Mir Jumla (B) Turbak
(C) Ram Singh (D) Bakhtiyar Khilji

I:"E
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21. faferfiie e It “Aie-2aIRS elaé e ?

(A) SICE (B) =<

(C) vrRERE (D) ==
21. 90 SEeT® @ (& “A-2-2911” 1 ek FCEARER ?

(A) ST (B) ARE

(C) =T D) =
21, H-T-3ATE W MERA TR AHST IRTRSHEA 7

(A) A (B) MR

(C) EstEl (D) 3IFhT
21. T=fRaa § @ fope “SH-u-3amadt” shl weatrd o6 ot 2

(A) IFNTNE (B) ST

(C) mEsTEl (D) 3IFhT
21. Who among the following initiated “Din-i-Ilahi” ?

(A) Aurangzeb (B) Babur

(C) Shah Jahan (D) Akbar
22. IS e PG e =PTe weee 72 ?

&) gt (B) o

(C) TPMIZFER (D) HrT
22. 90 StEeT® @ @R (FEihTS Sies 797 2

A) Al (B) =4

(C) GBI (D) BE1IY
22. TERIM SS3T JATS Y G 78T 7

A) HgH (B) e

(C) IEhMA (D) =g
22, TAfcTRiad o & % T hg IR Jeo T2 8 ?

A) gzl (B) e

(C) ISR (D) =iEg

,
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22. Which of the following is NOT a Union Territory ?
(A) Puducherry (B) Ladakh
(C) Kodaikanal (D) Chandigarh
23. P 1R ¥ IEre FAIe ] fh FFS C2fee ?
(A) 30w == g=hom™ (B) =™ S SR
(C) w2 i Iz (D) Iz = B
23. S e PO N WIS AR 2
Q) &oH 93 3 B) e @3 =N
(C) e @32 fafb! (D) fafom @3 B
23, ITSI§ MU TR AR TSR IR ?
Q) fafew smi seffsr (B) s 310 38"
(C) 3mem I ferfear (D) fafes sm =mfist
23. 97ere i Gl # ek o gwarer fhr i o
A ffes i s (B) = 37 31EM™
(C) 3TmEm 3R faifext (D) forfem s =
23. The Treaty of Yandaboo was signed between :
(A) British and Burmese (B) Burmese and Ahom
(C) Ahom and British (D) British and Chinese
24, RFS G SR *FGT I oS! (P Sl ?
(A) e (B) TR
(C) STar (D) e
24, FS 6T SSGIT *FGTN (F IR ?
A) fafe (B) o=
(C) SCar (D) pifemi

,
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24, TEhd HEYUTE “IAIIH Ap-aem” G R fowme ¢
(A) o (B) e
(C) srgey (D) et
24, “3TFURH hde” e, Teh HEhd A1eh foheieh G TorT T/ &1 2
(&) oy (B) e
(C) 3reaey (D) ricter@
24. ‘Abhigyan Shakuntalam”, a Sanskrit play was written by :
(A) Panini (B) Kalhan
(C) Asvaghosa (D) Kalidasa
25. IR cermieT et o tafigy e :
(&) oo o A (B) 28I (2Tl <679 AT Sfegas 12
(C) e @ (D) LT GRCOL! GPAR
25. IR calwieT Gt e iy e -
(A) GBI BIR™ T (IR TP (B) SReAI &0 ST (18
(C) R orfs (D) “IT~I07 GHCEI6a! Pl
25. SR STAfSE FATH SR TGRS STeT
(A) forll aH -2 get ari (B) 3T BIRET gTeTSH Ty T
(C) Hasi G-did @i (D) ToRfEsTI AR SE wretf
25, aTfties Siferet Bl s formyar 2 -
(A) & =efiE Ee Ger T g |
(B) ufeeTati i Ja i <hl FTuld TE 2 |
(C) = fofma someft
(D) T3 T I AR
25. The special characteristic of the annual Jon Beel Mela 1is :

(A) It remains open round the clock
(B) Women are not permitted to enter
(C) Barter system

(D) The exclusive trading of livestock

I:"E
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26. SPTIF Jifer R (20 ;
&) T
(B) €
©) =
(D) ™e2Z

26. SPIICE TS 57 251
A) T
(B) =T
(C) =
(D) ™ezM

26. STTETH EEIN a3 AT ?
(A) TEgE!
(C) T

26. AT HITT U B :
(A) A

(C) =

26. The state bird of Assam is
(A) Cuckoo
(C) Peacock

B)
D)

(B)
D)

B)
D)

CENEACHEACED!

B! T (BT &)
HEICK

S5l

Hornbill
White winged wood duck

27. T AR T AT SRES
A) foams
(C) TReErvat

27. ST AR @ AIRICT S[ES
(A) Toamwe
(C) Reive

SLRC-2022/P-V/A 19
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27. UM A3 96 I @UIME § 7
A) g (B) weHTEe
(C) fereameret (D) e
27. 3me Gt | vardt m fRra 2
CNIREEIEE! (B) W&HTE
(C) Tawm=a (D) wEAEA
27. The Umananda temple is situated on the hilltop of
(A) Chitrachal (B) Bhasmachal
(C) Bindhyachal (D) Sandhyachal
28. SEIHRA g’ Ifers Trere b Ser bt @i wifes ?
A > (B) =
(C) Sle (D) s
28. ICEIHIER S RETE ARbe elibi SeR R :
A) e (B) o
(C) Sw D) RRe
28. TGI-TERI HRATR <1 BT 3T 71, G B 36 A S (IS ?
(A) = B) "Id
(C) =mwe (D) femmeeht
28. rcw Tafehea & e g T aTel TT=ie R Farferedes 9
(A) =T (B) @I
(C) =mmvg (D) fam
28. The ancient Indian physician known as the ‘Father of Surgery’ was :
(A) Charaka (B) Sushruta
(C) Vagbhatta (D) Vinayaka

I:"E
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29. ORISR TS RFAI FRTF SPId! ST ?
A) 14 B) 10
©) 15 (D) 12
29. SITER MU G T w3l “Hheq) A 2
(A 14 (B) 10
(C) 15 D) 12
29. IRATR Hfsfrasma Aed B g ?
A) 14 (B) 10
©) 15 (D) 12
29. R Gfaam | ferat ST a1 S & 2
(A 14 (B) 10
©) 15 (D) 12
29. How many schedules are in the Indian Constitution ?
(A 14 (B) 10
©) 15 (D) 12
30. T e FifEe e (20 PP 2
(A) B T B) fast
(€) a7 (D) fofe
30. FCN o HFCH (@I A0 e T 2
(A) SREH ST B) faomi
(©) T (D) e
30. <@y () foamar s« Tg grerEnsd faam ¢
(A)  TETE T (B) fogu
(C) =foT (D) fafeen
30. -3 ITMhg fohdl U 1 TSARA & 7
(A)  ITETEA T (B) fgu
(C) Hforge (D) faferepm
30. The Fox-tail orchid is the state flower of
(A) Arunachal Pradesh (B) Tripura
(C) Manipur (D) Sikkim
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31. T3 e *fe= wers a8 g sefbe (2w, o2 =@ 1oie o1 it =7 |

(A)  @f3R =% @& 13T (Axis and Allied)
(B) ¢e73T o< @R’ (Allied and Axiom)
(C) «eT2T % (915 (Allied and Gammon)
(D) TN I ORI’ (Gammon and Axiom)
31. WYL RS =& IR M) sk [a 2@ oF Sfefzs
(A) «f3PT 8 GEIET (Axis and Allied)
(B) 9T € GFRY (Allied and Axiom)
(C) 9T 8 (999 (Allied and Gammon)
(D) oM 8 B3R (Gammon and Axiom)
31. g gael 11 37E Cagl ATARAR™ HiH- 3¢9 T8l 8Tl SITa™
(A) UfRIE AT ITATSE (Axis and Allied)
(B) 3TeT1sS AW Vi3 (Allied and Axiom)
(C) 3reTsE W 1 (Allied and Gammon)
(D) T\ AT Ve (Gammon and Axiom)
31. o Igq fia v Eiguaemna, = war9mre |
(A) UfeIE Tg UATSE (Axis and Allied)
(B) ueTss Us ufegatm (Allied and Axiom)
(C) uess T 1 (Allied and Gammon)
(D) Tm Ug ufeg3t (Gammon and Axiom)

31. World War II was fought by two opposite power blocs called
(A) Axis and Allied (B) Allied and Axiom
(C) Allied and Gammon (D) Gammon and Axiom

32. TN ZTS ITORINT IF BFSI (- (g TG A0S (2feet :

INIRISSH (B) = 7129
(C) T (D) IS
32. T B Ariess T (Srwiad I TY5e1I1G I050R -
INIRITSH (B) Tl
(C) oI (D) IS

I:"E
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32. §d IRATRTS STSE! SIS YT -hIR TSI SITATGT ?
a) fi@ (B) @RIAN
(C) wrTfor (D) STErA
32. T €l H Ueh YW qoi- & geled e g wgs oft
A) fomEm (B) T®IAUR
(C) wTrf (D) STEET
32. A major Oil-field accident took place recently at
(A) Tingkhong (B) Sarupathar
(C) Merapani (D) Baghjan
33. 1 oo e w1 ¢ ifes 2
(CVERSIRIEE (B) WS
(C) JRII=T (D) W&
33. I MOeTIc STt =1 :
(CVERSIRIEE (B) WS
(C) =R (D) WECE
33. Tuemmaf Tie gan g ae ¢
(A) S (B) gaeteast
(C) AR (D) Hewied
33. it fcmrg ot st A o
(A) S (B) gaeteast
(C) PrETS (D) Hewied
33. The real name of Bir Chilarai was
(A) Janmejoy (B) Sukladhwaj
(C) Kalapahar (D) Malladev

,
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34. “GRoE (@ GNCABIN 9 BPgsd T ?

(A) e (B) PR BR-GwEIS
(C) femm (D) T SCB!

34. ‘T @ I BFeef THR 2
A frgefer (B) SIPIGE Bla-Sefwife
©) foa (D) T Toife

34. “TYUST A BTN HE MR BRET ?
(&) ferafsem (B) Tl HTET ETR
(C) femram (D) B &R

34. ‘T IO Topueh1 Ueh HEUl ARR & 7
(&) fersfsrn (B) 3@ <h =14 ST
(C) femma (D) Fehl STFfTfel

34. “Tusu Puyja” is an important festival of the
(A) Bishnupriyas (B) Tea tribes of Assam
(C) Dimasas (D) Kuki tribe

35. FERIRS @G BT “JUi-T&[” (Mask Making) S &I4roica 56! 391 27 ?

(A) TARme (B) et
(C) TarRErsial (D) iferl
35. G SCAlS @R B o TS (AT (WBRR) @ieid bt 23 ?
A) RS (B) et
(C) ToIRIT#ITe! (D) v
35. TTERIN S SRATRETE J@T SHRAREE! Mg 1 ?
(A) =EeE (B) wrgeft
(C) TaTerar (D) @fezn
35. fmforfga # & fora worm @ “g@iier AT @1 &9 @ fhan mar g ?
&) =TS (B) wreht
(C) TieTeTTet (D) ez

I:"E
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35. In which of the following places, “Mask making” is predominantly practiced ?
(A) Charaidew (B) Majuli
(C) Goalpara (D) Sadiya
36. “ T AT ARG TARFIT IPTSI I ?
A)  Teyifoemm Sl (B) I (e
(C) fezpeptm re! (D) +RToE e
36. I ¢S AMTH T S 2
A) Tegife epim SeR e (B) =TI (el
(C) T epTm Fre! (D) <] 5F IS
36. ‘°fer’ 31 ARM Bo F@ g 7
(A)  <fd y9Te 3mETer (B) AEHMTY ST&r83TT
() forwuy srrg (D) e = weed
36. “arhl” frTeh AfF TR AT AW 3
(A) =nfa yaTg 3Erd (B) refiarer SesaT
() forwmy g (D) e g e
36. “Poki” is the name of ancestral home of
(A) dJyoti Prasad Agarwalla (B) Lakshminath Bezbaruah
(C) Bishnu Prasad Rabha (D) Nabin Chandra Bardoloi
37. forferie s (Il RS waiEs ?
&) e (B) et
(C) w (D) TRl e
37. TG Tl (SRG Repiisie s ?
A T (B) Tfert 4
(C) = (D) TAleT (N w7
37. TERM SeI3T fHaEmRaTE € 7
(&) gimER (B) wfert e
(€) = (D) @t Tiferg
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37. Tfofga & 9 oF Rearr d fem g 2
A) i (B) mrferfierm
(©) TR (D) <reriiferg wieT
37. Which of the following is located at Sibsagar ?
(A) Surya Pahar (B) Malinithan
(C) Rang Ghar (D) Dolgobinda Mandir
38. OO (FI qETS I 19 Sesifeze waZe ?
&) =T B) =
(C) fsiary (D) Tl
38. SINUSH (I AT (AT A1 71K Teoife 2R ?
Q) =P (B) s
() feeEm (D) T
38. WNAMH o TSNS ST SHIAT HIHISHIE ?
(&) (B) wfg
(C) fosmm (D) B
38. TH A< TRA o fopg T & Froperclt 2 2
(A) 3EH (B) =g
(C) foim (D) e
38. In which state of India does the Barak river originate ?
(A) Assam (B) Manipur
(C) Mizoram (D) Meghalaya
39. ‘TR A RIS I TR CICS TS ?
&) s (B) G =
(C) fo= (D) I
39. I SAfS (PR TRMIEE A “QTWR " NI ?
(A) ™R (B) IR TRt
(C) fo= (D) I

,
SLRC-2022/P-V/A 26 %



39. TEMM J&E “gRel Ma” I |mEer g ?

A) < (B) e %ot
(C) feam (D)
39. o M fmforfea § @ fora auem @ Tt 2 2
A) < (B) e %ot
(C) faman (D) <hifel
39. Which of the following communities is “Haidang Geet” associated with ?
(A) Deuri (B) Sonowal Kachari
(C) Tiwa (D) Karbi

40. PR SR T a2 521 I s 2

(A) o (B) I ’BI

(C) =D (D) it
40, SIIGIR STRHERIR ARG e &=y [gre 2

@) P (B) eI

(C) =I5 (D) e
40. M ATETRekfs ks sef o geman ¢

(A) W () (B) Tl

(C) (D) =S
40. 37EH %1 JIHHS e fEes o afrg 2

A) wH (B) il

© =k (D) e
40. Asharikandi village in Assam is famous for :

(A) Silk (B) Terracotta

(C) Jute (D) Marble

I:"E
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41.

41.

41.

41.

41.

3:4:5 oo 2! TS AL 5[qeiFaT 480 TR o' | 74y FfG1T SBiZei Tieah!
el

A) 6 B) 8

©) 10 (D) 12

3:4:5 SITSA fowIfb FRYJIF BoRFeT 480 | 2 foafb 3y Ized M4 -

4) 6 B) 8

©) 10 (D) 12

HAAT SHNH TATE'3 TER 3:4:5 I/ fT@r Femésn Sem™ 480 | o A
AT ATeTa S5fgg UM sHfHrn e

4) 6 B) 8

() 10 D) 12

3:4:5 % TUTA T TEI <fiF T3 1 UG 480 TR M1 7 | I T@nsti § § gad 9t
TR :

A 6 B) 8

© 10 D) 12

The product of three numbers which are in the ratio 3:4:5 is found to be 480.
The largest number among the three numbers is

A 6 (B) 8
(©) 10 D) 12

42,

42,

THICTT GBI TR &AW 30% Jhan 91 23, ©F (=S O 30% ZP 91 2 | FRYIGE ID
i A1 ZPTT #1274

(A) 9% I (B) 10% T

(C) 10% @ D) 9% ZM

GFHB MRAF 30% IS T 287 GIR SRR 30% BT T4 291 | Mok 2 wanifoa
G TS

(A) 9% I (B) 10% B

(C) 10% I D) 9% &M

SPACE FOR ROUGH WORK

,
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42, UFE IAGEE 30% S SEEE A SEHEE 30% w153 @emEE | § IFSHETE
TIATIEATEE! SIS BIAR ?
(A) 9% SE™ (B) 10% STSTE &=
(C) 10% &= D) 9% «TSTE I
42. THHEATH 30% 1 g T3 SR 38 F1¢ 30% hl HH g3 | Ther |, T H g THaaH & -
(A) 9% Hdfg (B) 10% <hi =it
(C) 10% 1 dfg (D) 9% I HHt
42. A number was increased by 30% and thereafter decreased by 30%. The net
change in the number in percentage is
(A) 9% increase (B) 10% decrease
(C) 10% increase (D) 9% decrease
1
43. ST 42 — 2¢ + 1 = 03 CFqS X% — 5T
@A) 0 B 1
© -1 D) 2
1
43. R x2 — 2 + 1 =0T % — 5 AT
@A) 0 B 1
© -1 D) 2
1
43. S HHHYUEIE 42 — 2x + 1 =0, x3—; fgmsneg ¢
@) 0 B 1
© -1 D) 2
43, TfiHr a2 —2x+1 =0T, x3—$$ﬂ=ﬂ?{%:
@A 0 B 1
© -1 D) 2
SPACE FOR ROUGH WORK

,
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43.

. 1.
In the equation x2 — 2x + 1 = 0, the value of x° — peRCE

A4 0 B 1
© -1 D) 2

44.

44.

44.

44.

44.

1 1.3 SRrSaq @Bl 9919 <11 1 5.3 Sirreeiq =ittt 9 Sifs Sfer #=t 119 2

(A) 108 (B) 108

(C) 104 (D) 102

1 373 SIRISTTR @[5 T0wa (ACF 1 T1.1.3 SRTHad [ T4 d (06 ({7 I M 2
(A) 108 (B) 106

(C) 10% (D) 102

1 (fir.)3 QT AT 198 TR M A 1 (3.71.)3 U M1 ook g g =1 8 7
(A) 108 (B) 108

(C) 10% (D) 102

1 H13 3T oTel Teh 89 H § AA 1 T3 o foha &1 1 ST Hehd & 2

4) 108 (B) 108

(C) 104 (D) 102

How many cubes of volume 1 cm? each, can be cut out from a single cube of
volume 1 m3 ?

(A) 108 (B) 106
() 104 (D) 102

45.

10 I 701 S4el qURTS (AT 9¥Te T 8 T THols = it SITEE (T SR |
GECIE (AN 9.6 Fb Tvore = IR THACEF oW 7ag boii2 Sife
a7ifar 2

(A) 3.2%D (B) 2.8F%
(C) 3.9%D (D) 4.4%5
SPACE FOR ROUGH WORK

,
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45. 10 TH (IS Gl 12 GfB (reaICeT ARG JT A0, TRf6 (TS 8 T T ~opf
I | ST e P 1 (aitce 1259 S (rei=ioee 9.6 3 Sobofy o e 2
(A 3.2%b (B) 2.8%b
(C) 3.9%D (D) 4.4%5

45. TH TRRIE 10 HI AU SIS o TR A 8 $ie shumgsta dFrar € | Jfe o
SITEATH @U@ o SA 9.6 HIe SHAUTZIE AARATET o JEATE! TR BRE o AFATS
SERTEHTTA 7
(A) 3.2 (B) 2.8
(C) 3.9%k (D) 4.4k

45. T 10 HIe T €G! Toh daR & foeg gopcht g5 8 e il Fa1s W Gar 1 et 8 | it bl
SR 1 AR fohal gl T & ST =1ET d1feh 39T 3 9.6 hie hl HaT3 W SR i Y
Tk ?
(A) 3.27r (B) 2.8
(C) 3.9k (D) 4.4

45. A 10 ft. long ladder leaning against a wall, touches the wall at a height of
8 ft. By what distance should the ladder be moved towards the wall so that
its top touches the wall at 9.6 ft height ?
(A) 3.2 ft B) 2.8 ft
(C) 3.9ft (D) 4.4 ft

46. IM A, B 9F C T 97T [T 22 I=9 9F B IE C F 91T I 25 I=9 =W, (ST 9 I=JT

forge ATIPITT

(A) 353927 (B) 303=3
(C) 253927 (D) 203=3
SPACE FOR ROUGH WORK

,
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46.

46.

46.

46.

A, B @32 C &3 51T 1 22 979 4R B € C & 91G I 25 Ie979 230 A T T 9
ISR

(A) 353 (B) 3031
(C) 253¢W (D) 20 IW

Jfe A, B 3m0 C f1 J&if g aHsn 22 SR 3 B 30 C 7 S| e ame 25 SR,
3ecAT 9 SERH A A T 9gi 98 Srame 2

(A) 35 9ER (B) 30 SR

(C) 254mMER (D) 20 €rER

Ffg A, B 31 C & 37ea 3177 22 99 8 31K B 31 C &l 37 3y 25 98 3, @1 9 ¥ &g A
ﬁawg%:

(A) 35 (B) 309

(C) 2574 D) 20 9%

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then the age of A after 9 yearsis:

(A) 35 years (B) 30 years

(C) 25 years (D) 20 years

47.

47.

T @I 9T N A 20% FI© T T ¥ LE AT 20% SRS 7S
fafer a1 TNy i S e @9l wre =i T2 :

(A) 40% B) 50%

(©) 30% (D) 45%

e GG AN G RIS ToT (TP 20% B @ el G2 6l o0 (/TP 20% ¥
I e e | STNENG Rewn 19 S Tl 6 20 a7 257 2

(A)  40% B) 50%
©) 30% D) 45%
SPACE FOR ROUGH WORK

;
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47. HAAN AHH SECE! TTH™ SEAAHR 20% TUE IR 6= | o Sarea! ot foem
SEAAHT 20% ST SHAT BHIGBAT | SHCET BHARITE o JREG! JATEhT JREl ?
(A) 40% B) 50%
(C) 30% D) 45%
47. HHA Th I% I 35 Tigd qod ¥ 20% HH T Glied g 3R 30 Jfgd oI T 20% 3 T
ST @ | %] I S T AT T Tfwrd B -
(A) 40% B) 50%
(C) 30% D) 45%
47. Kamal buys an article for 20% less than its printed price and sells it for 20%
more than the printed price. The percentage of gain on selling the article is
(A) 40% B) 50%
(C) 30% D) 45%
48. IM A:B = 2:3 9% B:C = 4:5, 7908 C:A I 5 :
(A) 8:5 (B) 5:8
(C) 5:18 (D) 15:8
48. AMA:B=2:3 R B:C = 4:5 9@ C:A A
(A) 85 B) 5:8
(C) 5:18 (D) 15:8
48. SfCA:B=2:33MB:C=4:5,3A C: A 31 IAH
(A) 8:5 B) 5:8
(C) 5:18 (D) 15:8
48. I A:B=2:33M B:C=4:5 A C:A?:
(A) 85 (B) 5:8
(C) 5:18 (D) 15:8
48. If A:B=2:3 and B:C = 4:5, then C:A 1s :
(A) 85 (B) 5:8
(C) 5:18 (D) 15:8
SPACE FOR ROUGH WORK

I:"E
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49.

49.

49.

49.

49.

G 9IRS 2l I=E 10% 21T I = | TR I SR 1000 2 E 3
2] 2e T SR 2T :

(A) 1300 (B) 1351

(C) 1310 (D) 1331

GFfb 2T SR @S T=T 10% R IS 2 | IO Pyl 1000 =CET 3 IO #F
*2AH7 SR 2

(A) 1300 (B) 1351

(C) 1310 (D) 1331

e AR gy SHGHRET SEOhEsl 10% gRTE SRidel | §e SEeE gy
IFNHRT 1000, 3761 SER 3 319 & TR g STHRTHET 96 [ 7

(A) 1300 (B) 1351

() 1310 (D) 1331

T gL ! TEE H fd a9 10% 1 ¢ & ghg et 2 | e IdHH S 1000 2 a1 3 99
T 38T hl SHEET Bt

(A) 1300 (B) 1351

(C) 1310 (D) 1331

If the population of a town increases at the rate of 10% every year, the
present population is 1000, then after 3 years the population of the town
would be

(A) 1300 (B) 1351
(C) 1310 (D) 1331

50.

I 95! FOIRE MG 3 : 5 SIS (R, SF ALCFLOR “Fee (=02 135 |
FRYJIRS D! TR

A 5 B) 9
©) 11 (D) 15
SPACE FOR ROUGH WORK

,
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50. 72 FSIF FRYE SIS 3 1 5 GIR SIME 8o 135 | Farod A2/ 24 -
@A) 5 B) 9
©) 11 (D) 15
50. A faform smafymf sqmesn sem 3 ¢ 5 TR SERE AESTSTE S Se 135 | S9RH
HIGTE GEfe SAITHRT AT ?
(A) 5 B) 9
©) 11 (D) 15
50. < Tehfcieh TEATE 3:5 TATA H & 37 k1 UHSeT 135 7 | ITH & BIE T@AT 2 -
A) 5 B) 9
©) 11 (D) 15
50. Two natural numbers are in the ratio 3:5 and their product is 135. The
smaller number 1s
A) 5 B) 9
©) 11 (D) 15
51. WD I5(TFAR T SIS 2:3 | P1eed razred Seirs (202 :
(A) 3:5 B) 2:9
©C) 4:9 D) 4:5
51. 3(b I5CHCA IR TS 2:3 | I 1267 (Ao Sl
(A) 3:5 B) 2:9
© 49 D) 4:5
51. ARG ST TH- S GETRE TATEST @™ 2 : 3 | & S A s Eemsst
EIIC]
@A) 3:5 B) 2:9
) 4:9 D) 4:5
51. Tereel <1 ot o forehutt b1 319UTA 2:3 B | ST o &t fiet U A & -
A) 35 B) 2:9
) 49 (D) 4:5
SPACE FOR ROUGH WORK

I:"E
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51. The diagonals of any two squares are in the ratio of 2:3. The areas of the
squares are in the ratio of
A 3:5 B) 29
©C) 4:9 D) 4:5

52. TR 9Bl FIF 6 & ARE 15 fiters 75 TR 21T | G S T4 10 7 fHres
I 4 & Tl FIvS @Ml MR | gfisw sz i s1s)df Sfete e @[l me
R
@ 2 B) 3
€ 4 D) 5

52. 6 S [ GL I 15 MG FACS A1 | 10 T 21 SR8 4 &+ Ao @Il =T | i<
FIEGT 71 FICS Fofe] NI ?
A 2 B) 3
©) 4 D) 5

52. WY WWIME! T 6 WS 9F 15 3@ BNEl | g9 10 T 3@ smema a1 4 7=
T | & ATAFTE TG BISTEH] FHe™ T ST ?
A 2 B) 3
€ 4 D) 5

52. 6 J%Y Teh &1 Wl 15 Tl § QU H Fehd & | 10 TeHi o 91, 4 3R 729 JSd & | 99 HEf I
T A o foTu STrarwr fei 1 e @
A) 2 B) 3
€ 4 D) 5

52. 6 men can complete a task in 15 days. After 10 days, 4 more men join. The
number of days required to complete the remaining work is :
A 2 B) 3
©) 4 D) 5

SPACE FOR ROUGH WORK

,
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53. (I GF AL 20% T 25% I 50% F NI 21 | FR2AICHI 2w
(A) 420 (B) 520
(C) 840 (D) 940
53. FICI G0 TRAEF 20% 9 25% 97 50% HIGR 21, 721D
(A) 420 (B) 520
(C) 840 (D) 940
53. HHY IAERE 20% T4 25% 1 50% 311 =™ 21 | & SFERNEREN JEE
(A) 420 (B) 520
(C) 840 (D) 940
53. Teh GEITH 20% b 25% 1 50% HIHM 21 8 | I G&AT 2 -
(A) 420 (B) 520
(C) 840 (D) 940
53. 50% of 25% of 20% of a number is 21. The number is
(A) 420 (B) 520
(C) 840 (D) 940
54. 0.23 T TIgen SR (2=
23 23
(&) 99 B 990
23 23
©) 999 D) 99
54. 0.23 G STGeT) S
23 23
(A) 99 B) 990
23 23
© 999 D) g9
SPACE FOR ROUGH WORK
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54. 0.23 77 9a™ 3N BRARYT eI e
23 23
(A) 99 B 990
23 23
© 999 D) 9o
54. 023 T s a@ g :
23 23
@A) 99 B) 990
23 23
© 999 D) 9o
54. 0.23 is equivalent to the fraction
23 23
A) 99 B 990
23 23
© 999 D) 9o
55. <5l TEAE TN faged cwawel (2= 81 15.f0.2 | fages@ F+41 Tf tarz :
A) 14 G.[. (B) 16 &.J.
(C) 18 G.[. (D) 22 G.J.
55. s ITCPIN AL FTgre THRaE 81 T1LI.2 | fagsite Sifogred Ti
A) 14PN (B) 16 7.1
(C) 18T.J. (D) 22 7M.
55. TME TUEA @Y AmEfem esasiEn Jee 81 @.f1)2 | 9 smafRiemiy
ARG AT AT ST
A) 149 (B) 164.fa.
(C) 18u.fu. (D) 224.f.
SPACE FOR ROUGH WORK

SLRC-2022/P-V/A



55.

Tsh TS FHBI Bl 1 &het 81 FHI2R | By S i FroiamE 2 -
(B) 16 ot
(D) 22 g+t

(A) 14 3
(C) 184

55. The area of an isosceles right angled triangle is 81 cm2. The length of the
hypotenus of the triangle is
(A) l4cm (B) 16 cm
(C) 18cm D) 22cm
56. 54° TIINHIF QEETTS 2FM FRCE 2709 T
T 37
A 710 ® 10
T O
© 710 D 7o
56. 54° TR T @G 2] T
T 37
A 710 ® 10
T Ox
© 710 D 7o
56. 54° @G USTISTS AT HT AT 7
T 37
A 710 ® 10
T O
© 710 D 7o
56. iU 54° ol eI i 3h1s A qREfdd v T SHRT AH ST BT 2
I 37
@A) 7o ® 19
T o
© 70 D) 79
SPACE FOR ROUGH WORK
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56. The angle 54° when converted to radians, is
T 37
@) 10 ® 70
T O
© 10 RT)
2.5
57. Ew*ﬁwwmﬂm:
@A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
2.5
517. E@Wﬁ@ﬁi‘?ﬁ@ﬁﬁﬁ@m:
@A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
57. 22 @ el e w1 A 7
(A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
2.5
517. %WWW%:
(A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
57. The decimal representation of % is :
@A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
SPACE FOR ROUGH WORK
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X \/162

58. ﬂfﬁ\/ﬁz L &, O® W I
(A) 12 (B) 14
(C) 196 (D) 144
x 162 , .
58. zrﬁm: L &, O G
(A) 12 (B) 14
(C) 196 (D) 144
x /162
58. o8- x ST, x A fegd ?
(A) 12 (B) 14
(C) 196 (D) 144
x 162
58. o8- x , Tl o T T T4 T |
(A) 12 (B) 14
(C) 196 (D) 144
58. Find the value of x if \/%3: 0262
(A) 12 (B) 14
(C) 196 (D) 144

59. TMa—b=59FaZ+b2=41,TSCS ‘ab’ I I X

(A) 10 B) 5

© 7 D) 8

59. IMa—b=59RaZ+b2=41%F,%Q@ ‘ab’ GI I

A 10 B) 5

© 7 D) 8
SPACE FOR ROUGH WORK
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59. Ffca—b=>5 3R a2+ b2 =41, 371 ‘ab’ T 7F g ?
(A) 10 B) 5
C) 7 D) 8
59. Ilca—b=53MaZ+b2=41,d ‘ab’ FIAF TH 2 :
(A) 10 B) 5
© 7 D) 8
59. Ifa—b =5 and a?+ b? =41, then the value of ‘ab’ is
(A) 10 B) 5
© 7 D) 8
60. 5 T AR GBI SN (tank) 80 TS ¢ wfa #iif< | GC6l Seidi 8 Tt AR
5]t AT [P TR CTee 27 2
(A) 80 Ff+l5 (B) 70 ffi
(C) 60 ™G (D) 50 ffG
60. 50 o1 7IF1 @FH (IS (G51%) ©f6 Face 80 Fi+E 7 =1itat | 8 b «1e1 =it ¢12 BRwIH
(T31%) S TS F© IR I 2
(A) 80 G (B) 70 ffe5
(C) 60 ™G (D) 50 FfeH
60. TH 3% (Tank) @ o’ 5 S g1 80 Tafta oo @m0 | 9 3% @t Ife o' 8 FgS FaHmEn
I Y AN ?
A) 80 fufa (B) 70 fufra
(C) 60 fufta D) 50 fuf@
60. T 3hl bl 5 U189 80 fire T X Wehd & | 3HT doh bl 8 UTSWI & WA | feheaT Tmay o ?
(A) 80 fae (B) 70 fime
(C) 60 fime (D) 50 fiFe
60. A tank can be filled by 5 pipes in 80 minutes. How long would it take to fill
the same tank by 8 pipes ?
(A) 80 minutes (B) 70 minutes
(C) 60 minutes (D) 50 minutes
SPACE FOR ROUGH WORK

,
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Q. 61 — Q. 64. Choose the correct ANTONYM for the given word.

61. Sympathy
(A) Empathy (B) Antipathy
(C) Condolence (D) Consolation
62. Economise
(A) Enormous (B) Purchase
(C) Waste (D) Trade
63. Hamper
(A) Promote (B) Stop
(C) Barrier (D) Fail
64. Incompetent
(A) Unskilled (B) Inefficient
(C) Dexterous (D) Useless

Q. 65 — Q. 67. Choose the correct SYNONYM for the given word.

65. Judicious
(A) Prudent (B) Irrational
(C) Foolish (D) Impatient
66. Monotonous
(A) Pleasant (B) Varied
(C) Variety (D) Tedious
67. Outrage
(A) Praise (B) Favour
(C) Pleased (D) Offence

SLRC-2022/P-V/A
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Q. 68 — Q. 70. Choose the correct option.

68. A number of people listening to a concert or a lecture is called
(A) Audience (B) Spectators
(C) Crowd (D) Rabble
69. The place where airplanes are housed is called a
(A) Garage (B) Warehouse
(C) Hanger (D) Hangar
70. A person who walks in his sleep is known as

(A) Misanthropist (B) Somniloquist
(C) Somnambulist (D) Ventriloquist

Q. 71 — Q. 74. Choose the correct preposition.

71. He said this oath.
(A) by (B) on
(C) with (D) from
72. The post the Government of Assam in the Department of Education
has been advertised.
(A) 1in (B) with
(C) under (D) for
73. The train starts 5 O’clock the morning Wednesdays.
(A) 1n, at, in (B) at, in, on
(C) 1in, on, at (D) on, at, in
74. The plaster on the walls has been removed to expose the original bricks .

(A) underneath (B) below
(C) under (D) 1inside

SLRC-2022/P-V/A 44



Q. 75 — Q. 77. The given sentence is incorrect. Choose the correct sentence from
the given options.

75. ‘The Statesman’ has the largest circulation of any English daily.
(A) ‘The Statesman’ has the largest circulation of any English dailies.
(B) ‘The Statesman’ have the largest circulation of all English dailies.
(C) ‘The Statesman’ has largest circulations of all English dailies.

(D) ‘The Statesman’ has largest circulation of all English dailies.

76. I contradicted against him.
(A) I contradicted by him. (B) I contradicted for him.
(C) I contradicted with him. (D) I contradicted him.

77. This is one of the best book that has been written since ten years.
(A) This is one of the best book written in ten years.
(B) This is one of the best books that have been written in ten years.
(C) This is one of the best books written since ten years.

(D) This is one of the best books that has been written since ten years.

Q. 78 — Q. 80. Fill in the blanks with the correct options.

78. Please to let the children pass.
(A) stand aside (B) stand to the side
(C) stand in the side (D) stand on the side

79. 1maginative stories about the origin of the game of chess.
(A) Many of the (B) Many
(C) There are many (D) Of the many

80. I really have to go now. I have the doctor.
(A) an appointment to (B) an appointment with
(C) appointment with (D) an appointment from

,
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81. BFEC, KONL, PT # Q XR<eGR # T 51ZS (5! A& 3¢ 32111 Ao 2
(A) S (B) U
(C©) R D) D
81. I3l # 3 T effszif*re 2@ ?
BFEC, KONL, PT # Q
4 S B) U
©) R M) D
81. 9« EEIS BIRATT UM # @ A= gFH ? BFEC, KONL, PT# Q ?
(A) S (B) U
(C©) R D) D
81. I9 @1 318 BFEC, KONL, PT # Q § # <1 S7Tg &7 ?
@ S B) U
© R D) D
81. Which letter should replace # in BFEC, KONL, PT#Q ?
(A) S B) U
(C) R D) D
82. 13 [l 100 (31 I FRYGIR 1 SerieTs 2 SRAGIF [P B a1ifar 2
A) 12 (B) 15
(C) 10 (D) 13
82. 1 (TP 100 7RIS o 7y @R AR ‘2’ o (e10S 2(q ?
(A) 12 (B) 15
(C) 10 (D) 13
82. 1 Tawr 100 faw formma s smfsmke @ em 2 @t foamme 2
(A) 12 (B) 15
(C) 10 (D) 13
SPACE FOR ROUGH WORK
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82.

82.

1 ¥ 100 T ! 9 T3 ! for@d a0 2’ & feha-t ar forn smam 2

(A 12 (B) 15

(C) 10 (D) 13

While writing the even numbers from 1 to 100, how many time ‘2" will be
written ?

A 12 B) 15

(G 10 (D) 13

83.

83.

83.

83.

83.

G5! TIGEE (P! @O THRYT (@ IR s e wiwiae Ft Skreal 274 |
3 Shereal fagem I R4yl =W 23

A 5 B) 6

© 7 D) 8

G0 ISER @ @I G316 Y 1M I ©F T ME @0 Frosi[ fage SiFhs
&9 41 291 | G M fqger (P (@9 41 A 2

4 5 B) 6

©) 7 D) 8

aa s faf fufeffaes smarfm gemrgsme g aEm | 9 St
HIeE ST 8 1 A 7

4 5 B) 6

©) 7 D) 8

Teh GHYS i 3Heh! Teh MY & TS o &9 § Hed AC | 36 & et R Fperd! Bigsit 6t
F@T_&ﬁ"'ﬁ

4 5 B) 6

©) 7 D) 8

Cut out a Decagon through one of its vertices, in the form of triangles. Total

number of triangle cut-outs will be

A) 5 B) 6
© 7 D) 8
SPACE FOR ROUGH WORK

,
SLRC-2022/P-V/A 47 % P.T.O.



84. [TfTire (RG220 IR (18, 75), (39, 54), (27, 66) T 37 7 T2 F(F ?
(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)
84. Fw Sl @ M2t (el yFEeiE ToIfFe 2
(18, 75), (39, 54), (217, 66)
(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)
84. 9§ IARTHT TR MM B I1Afed TIHIGl THT ?
(18, 75), (39, 54), (27, 66), ?

(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)
84. TmAfaRaa & @ form den & 3m &1 5969 (18, 75), (39, 54), (27, 66) % T ?
(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)

84. Which of the following pair of numbers has the same relationship as (18, 75),
(39, 54), (27, 66) ?
(A) (b1, 42) (B) (32, 62)
(C) (b1, 65) (D) (61, 55)

85. 5,7, 11,17, 23, 35, 47, ... TGS T FAH! oo 1 ;
(A) 23 (B) 17
© 1 D) 35

85. LTS TWFSIA TorElf+re M biee 74 :
5,7,11, 17, 23, 85, 47

(A) 23 (B) 17
€) 11 (D) 35
85. 5,7, 11,17, 23, 35, 47 WIS MU Hol ' STHM fereremg AR ?
(A) 23 (B) 17
€ 1 (D) 35
SPACE FOR ROUGH WORK

,
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85. [@d 5, 7, 11, 17, 23, 35, 47 T TTAd @1 7T UE T8 |
(A) 23 (B) 17
© 1 D) 35
85. Identify the term that is incorrectly placed in the series 5, 7, 11, 17, 23, 35,
47,
(A) 23 (B) 17
€ 11 (D) 35
86. @ ¢« @IU® BEC 3 9¢f ‘books are old’, EDF 9 &< ‘man is old’ =1 CGH @&
‘buy good books’ WQT‘{WI | 3% ‘books’ I (FIT (2R :
A B B C
©) E M) D
86. I MRF® BEC WRIR books are old’, EDF @R ‘man is old’ €38 CGH @RI
‘buy good books’ | ‘books’ *F(HF Tl IIZS ALFS
@A) B B) C
©) E M) D
86. HHH His 1 (code) BEC T Aifysn Smam “fesmaset mem” EDF 3 3ifysn Sem
‘i ST AW CGH 7 3nifysn S “mem faemewrat s | “faemewrE”
YT HISHT JEH
A B B C
©) E M) D
86. Tt Ut wIg & BEC %1 319 7, ‘books are old’, EDF %1 3191 8, ‘man is old’ 3t CGH
&1 3L B, ‘buy good books’. ‘books’ & fTU HIE R :
@A) B B) C
©) E D) D
86. In a code, BEC means ‘books are old’, EDF means ‘man is old’ and CGH
means ‘buy good books’. The code for ‘books’ is
@A) B (B) C
©) E M) D
SPACE FOR ROUGH WORK

,
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87. Tmfere ST [Ro[ &1 -
A=2C
A+3C=2C+G
TC=2A+G
ferfafis @M 2G I ™ 2T 2
A) 2A (B)
(C) 2A+3C (D)
87. Tmferie Srbete Kaml 39 -
A=2C
A+3C=2C+G
TC=2A+G
0 SEfema T @M 2G @3 T 2
A) 2A (B)
(C) 2A+3C (D)
87. TEHE BT HHI<I%IE! 8IHAT TSl
A=2C
A+3C=2C+G
TC=2A+G
MR 56 AFE3T 2G S q9H
A) 2A (B)
(C) 2A+3C (D)
87. frfafga geei W fomm =t
A=2C
A+3C=2C+G
TC=2A+G
freaffga d @9 2G Fau= ? ?
A) 2A (B)
(C) 2A+3C (D)

3A
3A + 2C

3A
3A + 2C

3A
3A +2C

3A
3A + 2C

SPACE FOR ROUGH WORK
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87. Consider the following relations :
A=2C
A+3C=2C+G
TC=2A+G
Which among the following is equal to 2G ?
(A) 2A (B) 3A
(C) 2A +3C D) 3A+2C
88. M “FYFI” WHG! ‘R’ *FA OO TS, (S8 AP “TTFIAr” el Fafere
(FIICOI *F] (10 T Fe 27 2
@A) fe=d (B) =
(C) To D) 7t
88. IM “FGFLI” *HAG “APT” G IF THFC ©F TR PO WS I ICH
TIRFS ?
@A) fe=d (B) =¥
(C) TH (D) 7Rl
88. Jif¢ “Theded’ I “FHE” S HHI! §, 3Tec e Faii “Vhil” BT TeTad HIWl ol ?
(A) Thehe (B) =l
(C) BTt D) J|
88. “hgdel’ W< “gH” Vs ¥ T g Tl 7, dih 34T a® ‘“Twt” fF=feifaa forg s @

88.

HEE g ?
(A) Tsrepe (B) ®fh
(C) st (D) IS

If “Conductor” is related to “Bus”, then “Referee” is related in a similar way
to which of the following ?

(A) Cricket (B) Hockey

(C) Football (D) Chess

SPACE FOR ROUGH WORK

,
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89. SWESI(F FEATIS AT oelle a1 :
(A) %6 ; e (B) WIRISG : s
(C) IR : Iy (D) TG : AT
89. g (Sl fbfee 74 -
(A) oo : e (B) wIRfeS : sifers
(C) IRy : Bl D) TG : MRS
89. TRIfRATHT WIS SRIE! AR ?
A) =g - fofirm (B) 3TRIYE : EETY
(C) =Tvre : T (D) TN : <@
89. Tord guferd I shi Tga SHifT ;
(A) e : fomm (B) 3miwg : Tivr
(C) <TUTe : Shiaar (D) HISE : Tifid
89. Identify the incorrectly matched pair :
(A) Newton : Science (B) Aryabhatta : Mathematics
(C) Chanakya : Poetry (D) Mozart : Music
90. T FRrpig b (Fq [0 1 *1<7 (Gl oele 5 -
(A) 2@ (Diplomacy) (B) afre (Mathematics)
(C) «@s'af& (Apology) (D) TSfeTcEes (Callisthenics)
90. T =0 T Prwld (Fare @RI of bz 39 :
(A) 2Pt (Diplomacy) (B) aifre *1@ (Mathematics)
(C) @R (Apology) (D) FIfICER (Callisthenics)
90. TSt HIAIATE BIURE! BRARI HigeE! AR ?
(A) fewmfar (Diplomacy) (B) #umfed (Mathematics)
(C) WA (Apology) (D) whferedfyed (Callisthenics)
SPACE FOR ROUGH WORK
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90. 3T e <hl TEHM i ST I HLIT o &1 bl Hedid HLAT 8 :
(A) Tt (Diplomacy) (B) #omfesm (Mathematics)
(C) WAt (Apology) (D) hferedfyed (Callisthenics)
90. Identify the term which refers to an area of higher studies :
(A) Diplomacy (B) Mathematics
(C) Apology (D) Callisthenics
91. “3:A:90::3:B:1095” © & I[& 91 @I 27 T A oF B 7 o/%e & 5 373 2
(A) W, I=7 (B) w2, 95!
(C) =d, = (D) o=, 75!
91. fEF R &SP T A Gk B G “If-0E F 21 ?

“3:A:90::3:B:1095”

(A) TP, IE (B) NPT, 9Bl
(©) oW, e (D) T, =5
91. “3:A:90::3:B:1095” Gt W Sifersit ST A 3TRI B B T sIeisit SiearH1 g
(A) <M, STER (B) T, ==
(C) =R, §H (D) M, ==
91. “3:A:90::3:B:1095” T TehETd HaY TATIUA LA o fIT A 3T B =l R Threerfid T ?
(A) HEMT, T (B) =&, T
(C) =, fea D) fem, =@a
91. What would replace A and B in order to establish a logical connection in
“3:A:90::3:B:1095” ?
(A) Month, Year (B) Month, Hour
(C) Year, Days (D) Days, Hours
SPACE FOR ROUGH WORK
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92. [THfTire (FRCHI 22 SIS CICS ST 2
A) 729 (B) 512
(C) 232 D) 125

92. T Srike @ R4 SR (= fom 2
@A) 729 B) 512
(C) 232 D) 125

92, TR TS TEABS TS ?
A) 729 B) 512
(C) 232 D) 125

92, fr=feriga § & o o we s den S T R 2
@A) 729 B) 512
(C) 232 D) 125

92. Which of the following numbers is unlike the others ?
A) 1729 (B) 512
(C) 232 D) 125

93. IR AT IS AR IAIBICE] TGRS 3T, “COreq GG SIee (T
+qd ol P | Aol At s_RSI e owE |
a) <9 (B) sl
(©) fro D) 4

93. M A MF WO T TR e, “OF GG ©I2 29 SR [Lad o Bl 12
SRAM /10 20T SHEA -
A) fremz (B) sifos
(C) foret D) <

SPACE FOR ROUGH WORK
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93. fefa fertt T st onfe o Segen g1, “faf wam amersn snf fharsai
T forr | Ieet TeTe wUrwTSt w1 "l ?
(A) 3 (B) ferame
(C) T (D) fowd
93. At B W RIS I 3T IR LA §U 3¢T Hed &, “IhI Soheildl WTg W 9 b fUar
e P =eietses_ ® )
(4) < (B) WS
(C) fuan (D) ==
93. Pointing to the newsreader on TV screen, Uday says, “ His only brother is the
father of my son’s father.” The newsreader is Uday’s
(A) Grandfather (B) Nephew
(C) Father (D) Uncle
94. TR (HIFG!*<1 SIS =79 GTTS e ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
94, TIC Trale = 3o W (@ *=is S (e fon 2
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
94, TERIM & HHY HICET TEIBRSAT ST ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
94. fr=fIREd o § i 1 7168 GO | A @ ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
94. Which of the following words is different from others ?
(A) SBTCU (B) MBNCP
(C) EBFCG (D) PBQCR
SPACE FOR ROUGH WORK
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95. W 3249685 MAIGN SHRENF THATS FEEN BF (SCF [BAA AT SR B
Ao ¢2 AR 2
A 72 (B) o<
(C) fofq D) @
95. 3249685 MBI AW SHEPIE A B, & G FO6 AR Zl GP2IPw
QPR ?
A 720 (B) o
(C) foufo D)
95. Sfg 3249685 AR foam STHEIET dmiean AHed fsaman mafH uef smea
AT AT 2
(A) = (B) st
(C) ==Y™ (D) "=E
95. afe TEAT 3249685 % 3iehi i TRV oA T SAafead foram STQ, a1 fohaw a7ent Y feurfa gam
@t ?
@A) (B) =m
(C) = D) T
95. If the digits of the number 3249685 are arranged in ascending order, the
position of how many digits would remain the same ?
A) Two (B) Four
(C) Three (D) One
96. 2XAG! IFTRT I ST T SO IS ot =, (o0 AT »[1 T 3! == :
Aa v B) U
G T D) F
SPACE FOR ROUGH WORK
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96. I G IS AT TN QS T[eRTeIE (FARECHE) @4 27, O A s
(A 79 7 G ?
@a v B) U
© T D) F
96. JIf¢ S ERANG! ER3E 3T BIGEI foReATSTse, NATAHHBR H-1 gHM € o1 grane
MR ?
@A v B) U
© T D) F
96. Ife AU 31 ol Ioe Afdst ohA A fT@T AT 2, T 910 8 BT AL BT AT R ?
@A v B) U
© T D) F
96. If the English alphabets are written horizontally in the reverse order, then
what is the 6th letter from left ?
@A v B) U
© T D) F
97. 2T I AES JE~[S RTSHOLF 8¢ T 200! A0S HIvT | Tomi e &reiF o3
5% Rrow el bR | 3T IAGI[TS(F BI7F | biEets ¢4 e [P 202
A fares (B) &S
(C) ~Tomi D) e
97. IR T AGS Bro*! (AT o141, @ @ @ A! | o &) @ o4 58
f2Te (T 4! | ] AGS (ATF ! | (& AT 1 ?
A) e (B) Ar&®
(C) <romi D) e
SPACE FOR ROUGH WORK
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97.

97.

97.

TEEEHMN (colleagues) BRI ATe™ Uwgden fedwfngs Sifem o S Qs
TERRE | FaRmEn EEeifrgs S, T Rovfrgg TERRE | g 3 I ts
TERTYA | 91 s3figs iy ?

A) feaw (B) Tegd

(C) Tamm (D) &

FTforTt 8 TorYq Tt & et 7, <1 G 8 Bier @ | Taren feansft & el 7, <iferq fgaw @ w1t
I g USII B2 | 9o Fe1 hH & ?

A) feaw (B) TSIqd

(C) s (D) &

Amongst the colleagues, Rajput is taller than Hitesh, who is shorter than
Suresh. Natasha i1s taller than Himashri, but shorter than Hitesh. Suresh 1s
shorter than Rajput. Who is the tallest ?

(A) Hitesh (B) Rajput
(C) Natasha (D) Suresh

98.

TN2I2 SRrerHy Ol Tae (Y€ niE e @3 e i Sferiice | i Sfereal
SR¥CH! TBIETSIE BB R [o9re firrs Fs@aii freel | (72 2o 45t @3 T
PR 52 ?

(A) Ay (B) <sfwq
(C) TSTFE (D) TGN
SPACE FOR ROUGH WORK
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98. TNzl b@ A GFb STSTHFAE RYFS @2l IR FIG | FI0! TFRGE TSARTSIE
TGS WG (ST O | (] S SIFhs(G ¢o1eT ?

Q) cegs (B) of
(C) AR (D) e

98. TR UMY AR o=t T graish aramiiaTe fefRmmr arfed grfemn | g1fi S smemm
HEE T STETGRE Tt ST e 3T S=d HY =1 A€ | S8 € 07 gramg

Hi=l 7

(A)  IrETfRmEn (B) =
(C) form geetrs (D) Sfufsem

98. gl 1 U 37d 1 9 fop fem@man man 2, fodier @ it feen ° e fean | %2 gu gswhs
FHMIR §9 8 gE{ T TAMFIANT hleh Ta1 [a9shral T | T&1 ! 3{e @1 eI firetm 2

(A) TS B) =i
(C) THI =gyt (D) YT
SPACE FOR ROUGH WORK
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98.

Sneha cut off a rectangle along the dotted line as shown. The cut piece was
parallelly shifted to the other side and fixed it there. What shape will Sneha
get now ?

(A) Pentagon (B) Square

(C) Parallelogram (D) Trapezium
99. e @t foas

99.

99.

» (D

e @ oafb S|y, Ta™r, S 3 e afesfig FE 2

» (D

MBI S W91 GRS 9, HE, SRAF @ BIERET ?

o (D

SPACE FOR ROUGH WORK
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99. Frmfirfa i & w1 s
T, Sy, T R T 7

o (D

99. Which of the following diagrams can represent ?
‘Language’, ‘French’, ‘German’.

. (@

100. DI GUI! qpe (PRI 750 (7.9 TR :

A A D D
F|B c |E c |B g |F
A 3 RS #1f5e 4=t 3061 T2tz
A F (B) D
© C (D) E
100. oA Y3 TCFE IFIHFSIE (I
A A D D
F|B c |E e B B |F
A 3 R3S 0 @ 34D i -
A F (B) D
€ C D) E
SPACE FOR ROUGH WORK
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100. T IR MET TATSHRE! TMERTE BHTT Frermian fef2rem |

A A D B

F C C B

A 1 Il aH fergsma el § 7

A F B) D
€ C D) E
100. = 8 v & o % 3 v femme A # |
A A D b
g || c |E ¢ |3 B |f
A % Tarodia e o feam o 37w g
A F B) D
€ C D) E

100. In the figure, multiple views of the same cube is shown

A A D (B

F C C b

The letter on the face opposite to A is

A) F B) D
© C D) E
SPACE FOR ROUGH WORK
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